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Sfor the questions

Answer either in English or in Assamese

1. Answer any four of the following questions :
1x4=4

wog [ e vkt e Tee

(a) Define rank correlation.

G ATTIRS AR 7 |

(b) Find geometric mean of 8 and 2.
8 ¥ 29 BCerad Ty Sfereqy |

{c) Define median.
YR Hge fed |
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(d) Find range from the following :

(2)

oo il SN #[Q1 AR Sfene
150, 100, 200, 400,

(e) What is skewness?

ST fF 92

() Mention one merit of scatter diagram.

#3f foaq b1 @ TrEy T 1

(g9 Can correlation coefficient be greater
than one?

FTTTT QN GFOLF ©IeF 2’ I ?

(h) Wha is parameter?

of15et 2

2. Answer any three of the following questions :

wed R e oot e e faan

(a) _Write two uses of MS-Excel.
MS-Excel] 75! IR o111 |

(b) Find mode from the following data :
e1q O #J1 IZEF GGl :

22A/1135

X

S
10
15
20

2x3=6

f (frequency)
(I33[™9)

2
6
13
7
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(3)

(c) Mention two disadvantages of
arithmetic mean.
BT G 51 Spfe Tray 34 |

(d) Mention two measures of dispersion.
fRvgaer 751 Mot Treg 340 |

(e) What do r=0 and r =1 mean?
r=09% r =1 & 3w ?

() Distinguish between an estimate and an
estimator.

G SF PP A& A1y (Hefq 1 |

3. Answer any two of the following questions :
5x2=10

&g R e 4ot 2R Taq fo
(a) Find median from the following data :

Wolq B 2] YT TS ¢

Marks No. of Students
(779) (RIT-RIIH 7R
10 8
20 15
30 22
40 20
50 10
60 5
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(4)

(b) Explain the merits of mode as a
measure of central tendency.

@HR 2RISR Wei RO IR YPTR A

911

(0 Find harmonic mean from the
following :
wors fraiRie =z iy Sfeea

5,7, 10, 13, 15, 20, 25, 28
(d) Explain the difference between mean
deviation and standard deviation.
o5 fve SF T [oeww s AN arm
911

(e) Explain the main features of
Spearman’s rank correlation coefficient.

RoRRETR T TR BN T QFERTR
QT 1 |

(/ What is an wunbiased estimator?
Explain.

PHAT[ SFT 2 I 01

4. Answer any three of the following questions :

10x3=30
vl [ e fofbt o e fran -

(a) What are the qualities of a good
average? Discuss. L

b1 o7 1Y B PR & & 2 Seesan 14
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(S)

(b) Find arithmetic mean :

ANEI iy Sferear

X f
0-10 5
10 - 20 10
20 - 30 25
30 - 40 30
40 - 50 20
50 — 60 10

(c) Find mode from the following data :
Te] B 7] IZETF Ofe1eT

Size of Garment No. of Persons Wearing

(¢com=IPd CSTv) (foracen<eq 3133m)
28 10
29 20
30 40
31 65
32 50
33 15

(d) Calculate standard deviation from the
following data :

o ©BI] 2] TNE [[oe Sferean :

Profits (¥ Lakh) No. of Companies
1S (T4 HITS) . (CFT=2M111] 31337T)
0-10 12
10 - 20 17
20-30 23
30 -40 39
40 - 50 16
50 - 60 03
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(6)

(e) Calculate Karl Pearson’s coefficient of

skewness :
Fe Prey SfFer g Bfeear :
X f
125 28
17-S 42
225 54
27-5 108
32-5 129
375 61
42-5 45
47-5 33

() Discuss how scatter diagram method is
used for studying correlation.

FoTTE SREAY I g fom qmfS e
JRTE I =, DA 41 |

(g9 Find Pearson’s correlation coefficient
from the following data and interpret
the result :

T YR °R_1 PR AoTEE QAT Senedl
S(F FATFACH! AT I ¢

Marks in Economics Marks in Statistics
(TSI 777) (~1fR337 Reere 7759)

48 45
35 20
17 40
23 25
47 45
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(7))

(h) From the following data, obtain the two
regression coefficients :

©elq S ] AR BRF 76! Sferean :

X Y
6 9
2 11
10 S
4 8
8 7

* %k
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